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'7. (tt) Explain 
.three 

parameters use to ireasure the pe omance

of a cofirputer system. 6

(b) What do you understand by ports and interfaces ? Explain

any three types of.pons. 4

8. Write short notes on the following terms (any /bar) : lO

(.) Cloud computing

(r0 Monitor

(iir) Anti-Yirus

(ri, BIOS

(v) Data Mining.
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(rr) CMOS.
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Question No. I is cornpulsory.

Attempl any.rve questions from Q. No. 2 lo Q. No. E

Pans of a question must be answered together.

(q\ Define supercomputer.

supercomputer.

Qiye two examples of

J

1

(b) Give full form ofthe following abbreviations : 3

(, PDA

(1,) ASCII
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(c) Define a bit and a byte. What are the tu,o key factors

that characterize the memory ?

@ Find l's complement of the following numbers : . 2

(H00001l.r l0l)2.

(u) Explain any rro pointing devices with example!. 5

A Describe Cache Memory.

k) Briefly explain e-library

(h) What is an operating system ? Name any ,r?o. 3

2. (q) Dillerentiate between Microcomputer and Minicomputer

. with exhmples.

4. (u) Cive differences between the following :

- (i) lnput unit and output unit

(r) Dot matrix printers and Daisy wheel printers

(

(b) Describe touch screen with its working.

5. Conven the following :

(,) (47.25), to (?),0

(il) (675.125)to ro ( ?),

(ii| . @73.28)rc to (?)t6

(lv) (48.28)r6 to (?)r{)

(v) ( I I I 1.001 l)2 to (?),r.

6. Perfonn the binary operations :

(, (ln0l t. 0t)2 + (l .l t0l r)2
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(b) Explain the main components of computer hardware

with diagram.

4

6
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3. (aI What is ROM ? Explain different types of ROM. 4 r

(r) Explain the memory hierarchy with diagram. 6

i
0r) (u r0,t t0t)2 r(t00t. l t)2.
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(irr) Hand-held sdannors and flat-bed scdnners..
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